

5

Q

Q





الف) $\begin{cases} x_1^3 + x_1^2 + 1 = 0 \\ x_2^3 + x_2^2 + 1 = 0 \end{cases} \rightarrow x_1^3 - x_2^3 \rightarrow x_1^3 - x_2^3 = (x_1 - x_2)(x_1^2 + x_1x_2 + x_2^2) = 0$ مع ج. 5 ب) $(x-1)^2 + (y-3)^2 = 0 \rightarrow \begin{cases} x-1=0 \rightarrow x=1 \\ y-3=0 \rightarrow y=3 \end{cases}$ مع ج. 5	6
الف) $x=0 \rightarrow \frac{\sin y}{y} = y \frac{\sin x}{x}$ مع ج. 5 ب) $\frac{x}{y} + \frac{y}{x} + 2\sqrt{\frac{xy}{xy}} = 5 \rightarrow \frac{x+y}{xy} = 2 \rightarrow x^2 + y^2 = 2xy \rightarrow x^2 + y^2 - 2xy = 0$ $(x-y)^2 = 0 \rightarrow x=y$ مع ج. 5	7
الف) $y = \sqrt{\frac{x-1}{x-3}}$ $\frac{1}{x-3} - \frac{1}{x-1} \rightarrow D = (-\infty, 1] \cup (3, +\infty)$ ① $y = \sqrt{\frac{2-x}{x}}$ $\frac{2}{x} - \frac{1}{x-2} \rightarrow D = (0, 2]$ ② $D = ① \cap ② = [0, 3]$ $\sqrt{y-1} = \sqrt{3} - \sqrt{x} \rightarrow \sqrt{3} - \sqrt{x} \geq 0 \rightarrow \sqrt{x} \leq \sqrt{3} \rightarrow x \leq 3$ ب) $\sqrt{x} \rightarrow x \geq 0$ ① $D = ① \cap ② = [0, 3]$	8
الف) $y = \frac{\sqrt{(x-1)(x-4)}}{\sqrt{(x-2)(x-1)}}$ $\frac{1}{x-2} - \frac{1}{x-1} \rightarrow D = (-\infty, 1] \cup (2, +\infty)$ ① $\frac{2}{x-1} - \frac{1}{x-4} \rightarrow D = (1, 4] \cup (4, +\infty)$ ② $D = ① \cap ② = (-\infty, 1] \cup (2, 4] \cup (4, +\infty)$ $x-1 \cdot x+4 = -x^2+14$ ب) $y = \sqrt{\frac{(x-1)(x-4)}{(x-2)(x-1)}}$ $\frac{1}{x-2} - \frac{1}{x-1} \rightarrow D = (-\infty, 1] \cup (2, 4] \cup (4, +\infty)$	9
الف) $\frac{c}{a} = \frac{x}{y}$ $\frac{1}{x} - \frac{1}{y} \rightarrow D = (-\infty, 1) \cup [\frac{y}{x}, +\infty)$ ① $\frac{c}{a} = \frac{x}{y}$ $\frac{1}{x} - \frac{1}{y} \rightarrow D = (-\infty, 1) \cup (1, \frac{y}{x}) \cup [\frac{y}{x}, +\infty)$ ② ب) $D = (-\infty, 1) \cup (1, \frac{y}{x}) \cup [\frac{y}{x}, +\infty)$	10